
DR1849
180 CFX - Lynx frame 

Canopy mount
(Loctite 242)

5 x TCEM1.6X4
Hex cup screw M1.6X4
(Loctite 242)

Upper bearing block

Lower bearing block

Battery tray

2 x TCEM1.6X4
Hex cup screw M1.6X4
(Loctite 242)

2 x TCEM1.6X5
Hex cup screw M1.6X5
(Loctite 242)

Bottom frame

2 x DR1456
Frame C washer  M1.6

Not included

DR1765
180CFX-Motor mount

2 x TCEM2X5
Hex cup screw M2X5
(Loctite 242)

2 x TCEM1.6X5
Hex cup screw M1.6X5
(Loctite 242)

7 x TCEM1.6X4
Hex cup screw M1.6X4
(Loctite 242)

2 x DR1456
Frame C washer  M1.6

Canopy mount

Antirotaion guide

1 x TCEM1.6X4
Hex cup screw M1.6X4
(Loctite 242)

DR1849
180 CFX - Lynx frame 

STEP 1

STEP 2 STEP 3

LYNX MANUAL DOC .REV .A 08-04-2016

HELI  INNOVATIONS

LX1733 180 CFX - Lynx frame combo -Silver
LX1734 180 CFX - Lynx frame combo - Red
LX1735 180 CFX - Lynx frame combo - Black


	Sheet1
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9


